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MEC-2 : MACROECONOMIC ANALYSIS 

Time : 3 Hours 	 Maximum Marks : 100 

Note : Answer questions from each Section as 

directed. 

Section—A 

Note : Answer any two questions from this 
Section. 	 2 x 20 = 40 

1. How do IS-LM curves integrate real and 

nominal sectors of the economy ? Can you use 

IS-LM analysis to show when and why 

monetary and flint policies can become 

ineffective ? 

P. T. O. 
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2. What is steady state in Solow's model ? Explain 

the "Golden Rule" in this context. 

3. Explain the life cycle hypothesis. Is permanent 

income hypothesis an explanation for 

discrepancy in cross-sectional and time series 

data on consumption ? How ? 

4. What do you mean by flexible exchange rates ? 

How are the effectiveness of monetary and 

fiscal policies affected by this system of flexible 

exchange rates ? Explain. 

Section—B 

Note : Answer any five questions from this 

Section. 	 5 x 12 = 60 

5. Explain the Hypothesis of Rational 

Expectations. What are the implications of this 

hypothesis for inflation-unemployment trade 

off? Explain. 
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es Bring out the dynamic inefficiency in 

overlapping generations model. What will be an 

appropriate social security policy in such a 

scenario ? Explain. 

' 7. Elaborate Hyman Minsky's model of real-

financial fluctuations. 

8. Compare and contract Classical and Keynesian 

views on unemployment. 

9. What do you understand from the phrase 

`nominal rigidities' ? Explain Mankiw's model of 

nominal rigidities. 

10. What is liquidity trap ? How does it impact the 

effectiveness of monetary 'policies in the 

economy ? 

P. T. O. 
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11. Explain the ideas of absolute and conditional 

convergence in endogenous growth models. 

What is speed of convergence in the Solow's 

model framework ? 

12. Explain the Planner's dilemma highlighted by 

Ramsay. 
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